EARAROBEEIERT — 2 N— IBISH —F

201953A2H (+) 1mEpR#3A

EHF2L5% 1000AT ¥5%4mE (BS) UEEl & [xmi m | ewm — |2 0 2o n
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S st o4 | B 2:00.1 1=1-1-1 | 35.7 [ 104.7 | 1 480 | FRERE (ER)
11812 7T~ 57.0 - (&) ¥+Avy bT7—L
RTAYLTTuva BiVIvh ) 46 |ypmng
ol 11| Er7rax (B] io4 ?;% 2:(040).8 12-12-12-9 | 34.7| 97.4 | 2 | 518 rﬁggf (EH)
R:KY—LYv—=— B:FFTa-Ya> R R A e 2 A
3 N I-Fr—yra— i 6 “gfg% 2(/(\)(;? 8-8-8-7 352|975 | 3 fie) ;2:;%;2& (ER)
v NnNyarhT7r B:ITU-NCRLZR TEBHS
4170110/ HI == %7 | BERR 2(:10/02.)9 2-2-2-2 | 36.0| 96.7 | 10 | 428 éiiﬁgf (FEH)
RN—YT54 BEXA-N-—=2F 0 las,—u
5l5l6|L—>L1Hh— # o4 5‘%:&?— 2(;)0@9 4-5-4-2 |35.8|96.6 | 4 | 476 ;ﬁg;g (®==)
LANT TN B SS—E— h 2 15595577 -4
6|8[11|/NTFRIX=2 2 0| L s | s ) sy b | A RESEE (RN
LANT -GN BiFFIA-—F1TT 42 | e
7 gl yrxINdvy 7 o7 Sﬂ%iﬁé‘i 2:(%.2 6-6-6-5 |35.9|93.6 | 9 | 48 fg‘iﬁflmﬂ
QFA TN b ATy TH-N 40 | yasy- o
8 4| RZXDT21—-5— 45 g;%l;’?%‘fl‘ 2(:10/12.)3 7-7-6-5 |35.9| 92.6 | 12 | 436 ?Eiﬁ (ER)
QAXHTTZv IR BRXHTO-5 O e
N > BIERCEREA €6 | HERM 2(:30/14.)4 9-99-9 [35.6| 91.4 | 6 | 448 §l§§_}{; ES0)
QTP NyEIHTT BIF 10 ket s —zenx
ol ol v75va i o6 A7.. PEE 2(701!:;5 9-9-9-9 |35.6|90.4 | 8 | 472 %(g)ﬁiv(ff)h77—!,\
L:F=TANNT N BT R=J1 (-8) J—¥rTr—L
s 4 6 | FIHEZ 2:01.6 11-11-11-12| 35.5 | 89.4 | 7 460 | HHEL (ER)
1|5|5 | ¥TFRILT - 57.0 (1/2) ) | W) ¥ITLyKITT 5747
RRFAT-E B:IRVa—H— EvdlLy RT7—L
7 3 RIECE S %6 | HUEE gL 4-4-4-7 [37.9| 76.4 | 11 | 490 ﬁuﬁfﬁuﬁi
R:TSATLH— B:5ZbIS— hF— (-8) NG I
@ 71 L
) 47.5-35.7
NAZA L | 12.7-11.2-12.5-12.1-11.9-12.2-11.8-11.7-11.5-12.5
® I —F—EBIERL
13—7+— |12,10,11(3,6)-8,4,7(2,9)5,1
23—7— |12,10,11,3,6,8,4,7(2,9)5,1
dal=3r= 12-10,11(3,6) (4,8)7(2,9)5,1
43—7+— |12-(10,11,6) (4,8) (3,7) (2,9,1)5
[ N3
BB 12 220/ 74K 1-12 1504 e E 1-8 270M JEHE 1-7-12 670
8 B 12 110M 7-12 280 B = 1-12 320/ B 12-1-7 2,260
1 120 1-7 70M | | & & 12-1 540/
7 160

ABICOVWTRDTEEERROODE. TR LIV,




